Hi Team
           We have use DP130 on our pos-system. We test DP phy fail.
But it will fail on 3.3 Pre-rmphasis level delta test 
[image: cid:7057f08f-8642-49f2-9331-6381a63e3cd4]
We have try to use HW setting on ADDR-EQ , but still fail.
 What is the reason that will cause fail? How to fixed this fail?

Another question.
We have setting VIL / VIH on ADDR_EQ. How did setting Link training on/of ?
How does the 4 AEQ switch? What does the BIOS need to do?
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Table 5. Main Link EQ Configurations

EQ_12C_ENABLE

(rog 05.7)

0 (detaul)

ADDR_EQ

LINK
TRAINING
ONIOFF

CAD_SNK("
viL= pp

1 (Gefauly)

AEQ(L:) - 808 al 2.7GHz

| aEa(Ly)
| AEQ(2)

AEQU3) - 08 a1 27GHz

o@ | UNKTRAINNG
LINK TRANNG AEQ(L0' AEQ(LY@ DESCRIPTION
LANE3
"AEQ(LO) - 8B al 2.7GHz e o "
AEQILT) « 6B at 2.7GHz adlomali kutrange EQ ga
| AEQ(L2) = 3508 a127GHz | same as Lane 010 2 modo

O mode: fxed EQ

AEQ(LY) = 608 a1 27GHz

308 a1 1.35GHz

TMDS mode: ied EQ

same as Lane 0102

O mode; fixed EQ

0P mode: fxed EQ

AEQ(LY) = 808 al 27GHz

308 at 1.35GHz

TMDS modo; fred EQ

1508 al 2.7GHz
1308 at 27GHz
1008 al 2.7GHz

AEQ(L3) - 68 at 2.7GHz

same as Lane 0102

‘automatc high-range EQ gain
based on fink training; P
mode

P mode: fixed EQ

AEQ(LY) = 1308 at 27GHz

3B a1 1.35GHz

TMDS mode; fred EQ

AEQ(LY) = 008 at 27GHz
AEQ(LY) FC programmatie.

P modo; £Q fully
programmable for each
traiing level; £Q cisabled by
default

AEQ(L) = 608 at 2.7GHz
AEQ(L1) FC programmable

same as Lane 0102

OP mode: £Q uly
programmable by AEQ(LY)

levels defaul AEQILT) EQ
Soting a 698 127Gz

308 a1 1.35GHz

TMDS mode: fied EQ

(1) Seting CAD_TEST MODE (Reg 17.0) forces the SN75DP130 into a TMDS test mode even if no external GAD signal is present
EQ setting is adiusted based on the output pre-emphasis level setting: the EQ setting is indifferent to the level of Vo,
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